# On Exchange Axioms for Valuated Matroids and Valuated Delta-matroids<sup>\*</sup>

Kazuo Murota<sup>†</sup>

February 1995 (Version: October 31, 1995)

#### Abstract

Two further equivalent axioms are given for valuations of a matroid. Let  $\mathbf{M} = (V, \mathcal{B})$  be a matroid on a finite set V with the family of bases  $\mathcal{B}$ . For  $\omega : \mathcal{B} \to \mathbf{R}$  the following three conditions are equivalent:

(V1)  $\forall B, B' \in \mathcal{B}, \forall u \in B - B', \exists v \in B' - B:$  $\omega(B) + \omega(B') \le \omega(B - u + v) + \omega(B' + u - v);$ 

(V2)  $\forall B, B' \in \mathcal{B}$  with  $B \neq B', \exists u \in B - B', \exists v \in B' - B$ :

 $\omega(B) + \omega(B') \le \omega(B - u + v) + \omega(B' + u - v);$ 

(V3)  $\forall B, B' \in \mathcal{B}, \forall u \in B - B', \exists v \in B' - B, \exists u' \in B - B':$ 

 $\omega(B) + \omega(B') \le \omega(B - u + v) + \omega(B' + u' - v).$ 

A similar result is obtained for valuations of a delta-matroid.

Keywords: valuated matroid, valuated delta-matroid, exchange axioms. AMS Classifications: 05B35, 90C27

<sup>\*</sup>Report No. 95841-OR, Forschungsinstitut für Diskrete Mathematik, Universität Bonn, 1995. An abridged version will appear in Combinatorica.

<sup>&</sup>lt;sup>†</sup>Research Institute for Mathematical Sciences, Kyoto University, Kyoto 606-01, Japan, e-mail: murota@kurims.kyoto-u.ac.jp. This work was done while the author was at Forschungsinstitut für Diskrete Mathematik, Universität Bonn.

### 1 Results

We consider valuated matroids first and then valuated delta-matroids. Let V be a finite set and R be a totally ordered additive group (typically  $R = \mathbf{R}$  (reals),  $\mathbf{Q}$ (rationals), or  $\mathbf{Z}$  (integers)).

#### 1.1 Axioms for valuated matroids

Recently Dress-Wenzel [4], [6] introduced the concept of valuation of a matroid. Let  $\mathbf{M} = (V, \mathcal{B})$  be a matroid [12], [14] defined on a finite set V in terms of the family of bases  $\mathcal{B}$ . A valuation of  $\mathbf{M} = (V, \mathcal{B})$  is a function  $\omega : \mathcal{B} \to R$  which enjoys the following exchange property:

(V1) For distinct  $B, B' \in \mathcal{B}$  and  $u \in B - B'$ , there exists  $v \in B' - B$  such that  $B - u + v \in \mathcal{B}, B' + u - v \in \mathcal{B}$  and

$$\omega(B) + \omega(B') \le \omega(B - u + v) + \omega(B' + u - v).$$

The valuated matroids afford a nice combinatorial framework to which the optimization algorithms for matroids can be generalized. In fact, a version of greedy algorithm works for maximizing a matroid valuation (and conversely this property characterizes a matroid valuation) [4], and the weighted matroid intersection algorithm can be extended for maximizing the sum of a pair of matroid valuations [7], [8], [9].

In this note we show that either of the following seemingly weaker exchange properties characterizes a matroid valuation:

(V2) For distinct  $B, B' \in \mathcal{B}$ , there exist  $u \in B - B'$  and  $v \in B' - B$  such that  $B - u + v \in \mathcal{B}, B' + u - v \in \mathcal{B}$  and

$$\omega(B) + \omega(B') \le \omega(B - u + v) + \omega(B' + u - v).$$

(V3) For distinct  $B, B' \in \mathcal{B}$  and  $u \in B - B'$ , there exist  $v \in B' - B$  and  $u' \in B - B'$ such that  $B - u + v \in \mathcal{B}$ ,  $B' + u' - v \in \mathcal{B}$  and

$$\omega(B) + \omega(B') \le \omega(B - u + v) + \omega(B' + u' - v).$$

**Theorem 1.1** For  $\omega : \mathcal{B} \to R$ , the three conditions, (V1), (V2), (V3), are equivalent.

For a trivial valuation  $\omega \equiv 0$ , (V1) reduces to the symmetric exchange axiom for matroids [14] and (V2) to Tomizawa's self-dual base axiom for matroids [11], whereas (V3) is somehow related to the augmentation axiom for independent sets. Other axioms of valuations in terms of independent sets are investigated in [10].

#### **1.2** Axioms for valuated delta-matroids

A valuated delta-matroid, due to Dress-Wenzel [5] and Wenzel [13], is a function  $\delta: 2^V \to R \cup \{-\infty\}$  such that

- **(D0)**  $\delta(I) \neq -\infty$  for some  $I \subseteq V$ ,
- (D1) For distinct  $I, I' \subseteq V$  with  $\delta(I) \neq -\infty \neq \delta(I')$  and for  $u \in I\Delta I'$ , there exists  $v \in (I\Delta I') u$  such that

$$\delta(I) + \delta(I') \le \delta(I\Delta u\Delta v) + \delta(I'\Delta u\Delta v).$$

Here  $\Delta$  denotes the symmetric difference:  $I\Delta I' = (I - I') \cup (I' - I)$ , and  $I\Delta u\Delta v = I\Delta \{u\}\Delta \{v\}$ , etc. We put

$$\mathcal{F} = \{ I \subseteq V \mid \delta(I) \neq -\infty \}.$$

The valuated delta-matroid is also natural in connection to optimization. The underlying family  $\mathcal{F}$  is a well-behaved delta-matroid ("even delta-matroid") such that  $|I\Delta I'|$  is even for  $I, I' \in \mathcal{F}$  (see [1], [2], [3] for delta-matroids). Again a version of greedy algorithm works for maximizing a valuated delta-matroid (and conversely this property characterizes a matroid valuation) [5].

We show that either of the following seemingly weaker exchange properties characterizes a valuated delta-matroid:

(D2) For distinct  $I, I' \subseteq V$  with  $\delta(I) \neq -\infty \neq \delta(I')$ , there exist distinct  $u, v \in I\Delta I'$  such that

$$\delta(I) + \delta(I') \le \delta(I\Delta u\Delta v) + \delta(I'\Delta u\Delta v).$$

(D3) For distinct  $I, I' \subseteq V$  with  $\delta(I) \neq -\infty \neq \delta(I')$  and for  $u \in I\Delta I'$ , there exists  $v \in (I\Delta I') - u$  and  $u' \in (I\Delta I') - v$  such that

$$\delta(I) + \delta(I') \le \delta(I\Delta u\Delta v) + \delta(I'\Delta u'\Delta v).$$

**Theorem 1.2** For  $\delta : 2^V \to R \cup \{-\infty\}$  satisfying (D0), the three conditions, (D1), (D2), (D3), are equivalent.

## 2 Proofs

### 2.1 Proof for valuated matroids

Obviously,  $(V1) \Rightarrow (V2)$  and  $(V1) \Rightarrow (V3)$ . To prove  $(V2) \Rightarrow (V1)$  and  $(V3) \Rightarrow (V1)$  we first show two lemmas. For  $\omega : \mathcal{B} \to R$  and  $p : V \to R$  define

$$\omega_p(B) = \omega(B) + \sum \{ p(u) \mid u \in B \} \qquad (B \subseteq V), \tag{2.1}$$

where we put  $\omega(B) = \omega_p(B) = -\infty$  if  $B \notin \mathcal{B}$ , and

$$\begin{aligned}
\omega(B, u, v) &= \omega(B - u + v) - \omega(B) & (B \in \mathcal{B}), \\
\omega_p(B, u, v) &= \omega_p(B - u + v) - \omega_p(B) & (B \in \mathcal{B}),
\end{aligned}$$

where  $\omega(B, u, v) = \omega_p(B, u, v) = -\infty$  if  $B - u + v \notin \mathcal{B}$ . If  $B, B' \in \mathcal{B}$  we have

$$\omega(B - u + v) + \omega(B' + u - v) - \omega(B) - \omega(B')$$
  
=  $\omega(B, u, v) + \omega(B', v, u)$   
=  $\omega_p(B, u, v) + \omega_p(B', v, u)$   $(u \in B - B', v \in B' - B).$  (2.2)

**Lemma 2.1** Assume (V3). If  $B \in \mathcal{B}$  and |B' - B| = |B - B'| = 2, then there exist  $u \in B - B'$  and  $v \in B' - B$  such that

$$\omega(B) + \omega(B') \le \omega(B - u + v) + \omega(B' + u - v).$$

(Proof) Put  $B - B' =: \{u_0, u_1\}, B' - B =: \{v_0, v_1\}, \text{ and } \omega(B, u_i, v_j) =: \alpha_{ij}$ (i, j = 0, 1). Since

$$\omega(B - u_i + v_j) + \omega(B' + u_i - v_j) = \alpha_{ij} + \alpha_{1-i,1-j} + 2\omega(B),$$

the claim is equivalent to saying that

$$\max(\alpha_{00} + \alpha_{11}, \alpha_{01} + \alpha_{10}) \ge \gamma \equiv \omega(B') - \omega(B).$$

Using (V3) with  $u = u_0$  we obtain  $\alpha_{0j} + \alpha_{i,1-j} \ge \gamma$  for some  $i, j \in \{0, 1\}$ . If i = 1, we are done. Otherwise, we have

$$\alpha_{00} + \alpha_{01} \ge \gamma. \tag{2.3}$$

Similarly, using (V3) with  $u = u_1$  we obtain  $\alpha_{1j} + \alpha_{i,1-j} \ge \gamma$  for some  $i, j \in \{0, 1\}$ . If i = 0, we are done. Otherwise, we have

$$\alpha_{10} + \alpha_{11} \ge \gamma. \tag{2.4}$$

Addition of (2.3) and (2.4) yields

$$(\alpha_{00} + \alpha_{11}) + (\alpha_{01} + \alpha_{10}) \ge 2\gamma,$$

which implies that  $\alpha_{00} + \alpha_{11} \ge \gamma$  or  $\alpha_{01} + \alpha_{10} \ge \gamma$ .

**Lemma 2.2** Let  $B \in \mathcal{B}$ ,  $B - B' = \{u_0, u_1\}$ ,  $B' - B = \{v_0, v_1\}$  (with  $u_0 \neq u_1$ ,  $v_0 \neq v_1$ ) and  $p: V \to R$ . If (V2) or (V3) is satisfied, then

$$\omega_p(B') - \omega_p(B) \le \max(\pi_{00} + \pi_{11}, \pi_{01} + \pi_{10}),$$

where  $\pi_{ij} = \omega_p(B, u_i, v_j)$  for i, j = 0, 1.

(Proof) The case (V2) is immediate from (2.2). The case (V3) follows from Lemma 2.1 and (2.2).

Define

$$\mathcal{D} = \{ (B, B') \mid B, B' \in \mathcal{B}, \exists u_* \in B - B', \forall v \in B' - B : \\ \omega(B) + \omega(B') > \omega(B - u_* + v) + \omega(B' + u_* - v) \},\$$

which denotes the set of pairs (B, B') for which the exchangeability in (V1) fails. In what follows we are to show  $\mathcal{D} = \emptyset$  if (V2) or (V3) is satisfied.

Suppose to the contrary that  $\mathcal{D} \neq \emptyset$ , and take  $(B, B') \in \mathcal{D}$  such that |B' - B|is minimum and let  $u_* \in B - B'$  be as in the definition of  $\mathcal{D}$ . Define  $p: V \to R$  by

$$p(v) = \begin{cases} -\omega(B, u_*, v) & (v \in B' - B, B - u_* + v \in \mathcal{B}) \\ \omega(B', v, u_*) + \varepsilon & (v \in B' - B, B - u_* + v \notin \mathcal{B}, B' + u_* - v \in \mathcal{B}) \\ 0 & (\text{otherwise}) \end{cases}$$

with some  $\varepsilon > 0$  and consider  $\omega_p$  defined in (2.1).

Claim 1:

$$\omega_p(B, u_*, v) = 0 \quad \text{if } v \in B' - B, B - u_* + v \in \mathcal{B}, \tag{2.5}$$

$$\omega_p(B', v, u_*) < 0 \quad \text{for } v \in B' - B.$$
(2.6)

The inequality (2.6) can be shown as follows. If  $B - u_* + v \in \mathcal{B}$ , we have  $\omega_p(B, u_*, v) = 0$  by (2.5) and

$$\omega_p(B, u_*, v) + \omega_p(B', v, u_*) = \omega(B, u_*, v) + \omega(B', v, u_*) < 0$$

by (2.2) and the definition of  $u_*$ . Otherwise we have  $\omega_p(B', v, u_*) = -\varepsilon$  or  $-\infty$  according to whether  $B' + u_* - v \in \mathcal{B}$  or not.

Next we claim under the assumption of (V2) or (V3) that

Claim 2: There exist  $u_0 \in B - B'$  and  $v_0 \in B' - B$  such that  $u_0 \neq u_*$  and  $B' + u_0 - v_0 \in \mathcal{B}$ .

In fact, (V2) implies that  $\exists u_0 \in B - B', \exists v_0 \in B' - B$  with

$$-\infty \neq \omega(B) + \omega(B') \le \omega(B - u_0 + v_0) + \omega(B' + u_0 - v_0),$$

whereas (V3) implies that  $\exists u_0 \in B - B', \exists v_0 \in B' - B$  with

$$-\infty \neq \omega(B) + \omega(B') \leq \omega(B - u_* + v_0) + \omega(B' + u_0 - v_0).$$

In either case we have  $u_0 \neq u_*$  by the definition of  $u_*$ , and  $B' + u_0 - v_0 \in \mathcal{B}$  by  $\omega(B' + u_0 - v_0) \neq -\infty$ .

In addition to the conditions imposed in Claim 2 we can further assume

$$\omega_p(B', v_0, u_0) \ge \omega_p(B', v, u_0) \qquad (v \in B' - B)$$
(2.7)

by choosing  $v_0$  appropriately. Put  $B'' = B' + u_0 - v_0$ .

Claim 3:  $(B, B'') \in \mathcal{D}$ .

To prove this it suffices to show

$$\omega_p(B, u_*, v) + \omega_p(B'', v, u_*) < 0 \qquad (v \in B'' - B).$$

We may restrict ourselves to v with  $B - u_* + v \in \mathcal{B}$ , since otherwise the first term  $\omega_p(B, u_*, v)$  is equal to  $-\infty$ . For such v the first term is equal to zero by (2.5). For the second term it follows from Lemma 2.2, (2.6) and (2.7) that

$$\begin{split} \omega_p(B'', v, u_*) &= \omega_p(B' + \{u_0, u_*\} - \{v_0, v\}) - \omega_p(B' + u_0 - v_0) \\ &\leq \max\left[\omega_p(B', v_0, u_0) + \omega_p(B', v, u_*), \omega_p(B', v, u_0) + \omega_p(B', v_0, u_*)\right] \\ &\quad -\omega_p(B', v_0, u_0) \\ &< \max\left[\omega_p(B', v_0, u_0), \omega_p(B', v, u_0)\right] - \omega_p(B', v_0, u_0) \\ &= 0. \end{split}$$

Since |B'' - B| = |B' - B| - 1, Claim 3 contradicts our choice of  $(B, B') \in \mathcal{D}$ . Therefore we conclude  $\mathcal{D} = \emptyset$ .

### 2.2 Proof for valuated delta-matroids

Obviously, (D1)  $\Rightarrow$  (D2) and (D1)  $\Rightarrow$  (D3). To prove (D2)  $\Rightarrow$  (D1) and (D3)  $\Rightarrow$  (D1) we first show two lemmas. For  $\delta : 2^V \to R \cup \{-\infty\}$  and  $p : V \to R$  define

$$\delta_p(I) = \delta(I) + \sum \{ p(u) \mid u \in I \} \qquad (I \subseteq V)$$
(2.8)

and

$$\delta(I, u, v) = \delta(I\Delta u\Delta v) - \delta(I) \qquad (I \in \mathcal{F}, u \neq v),$$
  
$$\delta_p(I, u, v) = \delta_p(I\Delta u\Delta v) - \delta_p(I) \qquad (I \in \mathcal{F}, u \neq v).$$

Note that  $\delta(I, u, v) = \delta(I, v, u)$  and  $\delta_p(I, u, v) = \delta_p(I, v, u)$ . If  $\{u, v\} \subseteq I\Delta I'$ ,  $I \in \mathcal{F}$  and  $I' \in \mathcal{F}$  we have

$$\delta(I\Delta u\Delta v) + \delta(I'\Delta u\Delta v) - \delta(I) - \delta(I')$$
  
=  $\delta(I, u, v) + \delta(I', v, u)$   
=  $\delta_p(I, u, v) + \delta_p(I', v, u).$  (2.9)

**Lemma 2.3** Let  $I \in \mathcal{F}$ ,  $I\Delta I' = \{v_1, v_2, v_3, v_4\}$  (with  $v_i$  being distinct) and  $p : V \rightarrow R$ . If (D2) or (D3) is satisfied, then

$$\delta_p(I') - \delta_p(I) \le \max(\pi_{12} + \pi_{34}, \pi_{13} + \pi_{24}, \pi_{14} + \pi_{23}), \qquad (2.10)$$

where  $\pi_{ij} = \delta_p(I, v_i, v_j)$  for  $i, j \in \{1, 2, 3, 4\}$ .

(Proof) Put  $\gamma = \delta(I') - \delta(I)$  and  $\alpha_{ij} = \delta(I, v_i, v_j)$  for  $\{i, j\} \subset \{1, 2, 3, 4\}$  with  $i \neq j$ . First note that for  $\{i, j\} \subset \{1, 2, 3, 4\}$  with  $i \neq j$ , we have

$$I'\Delta v_i \Delta v_j = I \Delta v_l \Delta v_m$$

with  $\{l, m\} = \{1, 2, 3, 4\} - \{i, j\}$ , and hence

$$\delta(I'\Delta v_i \Delta v_j) - \delta(I) = \alpha_{lm}.$$
(2.11)

Note also that by (2.9) the desired inequality (2.10) is equivalent to

$$\gamma \le \max(\alpha_{12} + \alpha_{34}, \alpha_{13} + \alpha_{24}, \alpha_{14} + \alpha_{23}).$$
(2.12)

Suppose (D2) is satisfied. We have

$$\delta(I) + \delta(I') \le \delta(I\Delta v_i \Delta v_j) + \delta(I'\Delta v_i \Delta v_j)$$

for some  $\{i, j\}$  with  $i \neq j$ . Using (2.11) we obtain (2.12).

Suppose now (D3) is satisfied. Using (D3) with  $u = v_k$  we obtain

$$\delta(I) + \delta(I') \le \delta(I\Delta v_k \Delta v_i) + \delta(I'\Delta v_j \Delta v_i)$$
(2.13)

for some  $\{i, j\} = \{i_k, j_k\}$  with  $i \neq k$  and  $i \neq j$ . Note that (2.13) can be written as

$$\alpha_{ki} + \alpha_{lm} \ge \gamma$$

with  $\{l, m\} = \{1, 2, 3, 4\} - \{i, j\}$ . If  $j_k = k$  for some  $k \in \{1, 2, 3, 4\}$ , we are done. Therefore we assume that  $j_k \neq k$  for any  $k \in \{1, 2, 3, 4\}$ . Then the following lemma establishes (2.12).

**Lemma 2.4** If for each  $k \in \{1, 2, 3, 4\}$  there exists  $\{i, m\} \subset \{1, 2, 3, 4\} - \{k\}$  with  $i \neq m$  such that

$$\alpha_{ki} + \alpha_{km} \ge \gamma, \tag{2.14}$$

then we have

$$\max(\alpha_{12} + \alpha_{34}, \alpha_{13} + \alpha_{24}, \alpha_{14} + \alpha_{23}) \ge \gamma.$$
(2.15)

(Proof) Though the proof is elementary and similar to the one for Lemma 2.1, it is included here for completeness.

In (2.14) with k = 1 we may assume i = 2 and m = 4, which yields

$$\alpha_{12} + \alpha_{14} \ge \gamma. \tag{2.16}$$

From (2.14) with k = 3 we see that at least one of the following three inequalities holds:

$$\alpha_{13} + \alpha_{34} \geq \gamma, \tag{2.17}$$

$$\alpha_{23} + \alpha_{34} \geq \gamma, \tag{2.18}$$

$$\alpha_{13} + \alpha_{23} \geq \gamma. \tag{2.19}$$

In view of the symmetry between (2.17) and (2.19) under (2.16) we may concentrate upon the first two cases (2.17) and (2.18).

In the second case (2.18) we add (2.16) and (2.18) to get

$$(\alpha_{12} + \alpha_{34}) + (\alpha_{14} + \alpha_{23}) \ge 2\gamma, \tag{2.20}$$

which implies

$$\max(\alpha_{12} + \alpha_{34}, \alpha_{14} + \alpha_{23}) \ge \gamma,$$

establishing (2.15).

We consider the other case (2.17). We use (2.14) with k = 2 to see that at least one of the following three inequalities holds:

$$\alpha_{12} + \alpha_{24} \geq \gamma, \tag{2.21}$$

$$\alpha_{23} + \alpha_{24} \geq \gamma, \tag{2.22}$$

$$\alpha_{12} + \alpha_{23} \geq \gamma. \tag{2.23}$$

In the first case (2.21) we add (2.17) and (2.21) to obtain

$$(\alpha_{12} + \alpha_{34}) + (\alpha_{13} + \alpha_{24}) \ge 2\gamma,$$

which implies

$$\max(\alpha_{12} + \alpha_{34}, \alpha_{14} + \alpha_{23}) \ge \gamma,$$

establishing (2.15). In the second case (2.22) we add (2.16), (2.17) and (2.22) to obtain

$$(\alpha_{12} + \alpha_{34}) + (\alpha_{13} + \alpha_{24}) + (\alpha_{14} + \alpha_{23}) \ge 3\gamma, \qquad (2.24)$$

which implies (2.15).

The remaining case (2.23), where (2.16) and (2.17) are valid, can be resolved as follows. From (2.14) with k = 4 we see that at least one of the following three inequalities holds:

$$\alpha_{14} + \alpha_{24} \geq \gamma, \qquad (2.25)$$

$$\alpha_{14} + \alpha_{34} \geq \gamma, \tag{2.26}$$

$$\alpha_{24} + \alpha_{34} \geq \gamma. \tag{2.27}$$

In case of (2.25) we add (2.17), (2.23) and (2.25) to obtain (2.24). In case of (2.26) we add (2.23) and (2.26) to obtain (2.20). Finally, in case of (2.27) we add (2.16), (2.17), (2.23) and (2.27) to obtain

$$2(\alpha_{12} + \alpha_{34}) + (\alpha_{13} + \alpha_{24}) + (\alpha_{14} + \alpha_{23}) \ge 4\gamma,$$

which implies (2.15).

Define

$$\mathcal{D} = \{ (I, I') \mid I, I' \in \mathcal{F}, \exists u_* \in I \Delta I', \forall v \in (I \Delta I') - u_* : \\ \delta(I) + \delta(I') > \delta(I \Delta u_* \Delta v) + \delta(I' \Delta u_* \Delta v) \},\$$

which denotes the set of pairs (I, I') for which the exchangeability in (D1) fails. In what follows we are to show  $\mathcal{D} = \emptyset$  if (D2) or (D3) is satisfied.

Suppose to the contrary that  $\mathcal{D} \neq \emptyset$ , and take  $(I, I') \in \mathcal{D}$  such that  $|I\Delta I'|$  is minimum and let  $u_* \in I\Delta I'$  be as in the definition of  $\mathcal{D}$ . Define  $p: V \to R$  by

$$p(v) = \begin{cases} \delta(I, u_*, v) & (v \in (I - I') - u_*, I\Delta u_*\Delta v \in \mathcal{F}) \\ -\delta(I, u_*, v) & (v \in (I' - I) - u_*, I\Delta u_*\Delta v \in \mathcal{F}) \\ -\delta(I', v, u_*) - \varepsilon & (v \in (I - I') - u_*, I\Delta u_*\Delta v \notin \mathcal{F}, I'\Delta u_*\Delta v \in \mathcal{F}) \\ \delta(I', v, u_*) + \varepsilon & (v \in (I' - I) - u_*, I\Delta u_*\Delta v \notin \mathcal{F}, I'\Delta u_*\Delta v \in \mathcal{F}) \\ 0 & (\text{otherwise}) \end{cases}$$

with some  $\varepsilon > 0$  and consider  $\delta_p$  defined in (2.8).

Claim 1:

$$\delta_p(I, u_*, v) = 0 \quad \text{if } v \in (I\Delta I') - u_*, I\Delta u_*\Delta v \in \mathcal{F}, \quad (2.28)$$

$$\delta_p(I', v, u_*) < 0 \quad \text{for } v \in (I\Delta I') - u_*.$$
 (2.29)

The inequality (2.29) can be shown as follows. If  $I\Delta u_*\Delta v \in \mathcal{F}$ , we have  $\delta_p(I, u_*, v) = 0$  by (2.28) and

$$\delta_p(I, u_*, v) + \delta_p(I', v, u_*) = \delta(I, u_*, v) + \delta(I', v, u_*) < 0$$

by (2.9) and the definition of  $u_*$ . Otherwise we have  $\delta_p(I', v, u_*) = -\varepsilon$  or  $-\infty$  according to whether  $I' \Delta u_* \Delta v \in \mathcal{F}$  or not.

Next we claim under the assumption of (D2) or (D3) that

Claim 2: There exists  $\{u_0, v_0\} \subseteq (I\Delta I') - u_*$  such that  $u_0 \neq v_0$  and  $I'\Delta u_0 \Delta v_0 \in \mathcal{F}$ .

In fact, (D2) implies that  $\exists \{u_0, v_0\} \subseteq I \Delta I'$  with  $u_0 \neq v_0$  and

$$-\infty \neq \delta(I) + \delta(I') \leq \delta(I\Delta u_0 \Delta v_0) + \delta(I'\Delta u_0 \Delta v_0),$$

whereas (D3) implies that  $\exists \{u_0, v_0\} \subseteq I\Delta I'$  with  $u_0 \neq v_0 \neq u_*$  and

$$-\infty \neq \delta(I) + \delta(I') \leq \delta(I\Delta u_*\Delta v_0) + \delta(I'\Delta u_0\Delta v_0).$$

In either case we have  $u_0 \neq u_* \neq v_0$  by the definition of  $u_*$ , and  $I' \Delta u_0 \Delta v_0 \in \mathcal{F}$  by  $\delta(I' \Delta u_0 \Delta v_0) \neq -\infty$ .

In addition to the conditions imposed in Claim 2 we can further assume

$$\delta_p(I', v_0, u_0) \ge \delta_p(I', v, u) \qquad (\{u, v\} \subseteq (I\Delta I') - u_*, u \neq v) \tag{2.30}$$

by choosing  $u_0$  and  $v_0$  appropriately. Put  $I'' = I' \Delta u_0 \Delta v_0$ .

Claim 3:  $(I, I'') \in \mathcal{D}$ .

To prove this it suffices to show

$$\delta_p(I, u_*, v) + \delta_p(I'', v, u_*) < 0 \qquad (v \in (I\Delta I'') - u_*).$$

We may restrict ourselves to v with  $I\Delta u_*\Delta v \in \mathcal{F}$ , since otherwise the first term  $\delta_p(I, u_*, v)$  is equal to  $-\infty$ . For such v the first term is equal to zero by (2.28). For the second term it follows from Lemma 2.3, (2.29) and (2.30) that

$$\begin{split} \delta_p(I'', v, u_*) &= \delta_p(I'\Delta\{u_0, u_*, v_0, v\}) - \delta_p(I'\Delta u_0 \Delta v_0) \\ &\leq \max[\delta_p(I', v_0, u_0) + \delta_p(I', v, u_*), \delta_p(I', v, u_0) + \delta_p(I', v_0, u_*), \\ &\delta_p(I', v_0, v) + \delta_p(I', u_0, u_*)] - \delta_p(I', v_0, u_0) \\ &< \max[\delta_p(I', v_0, u_0), \delta_p(I', v, u_0), \delta_p(I', v_0, v)] - \delta_p(I', v_0, u_0) \\ &= 0. \end{split}$$

Since  $|I\Delta I''| = |I\Delta I'| - 2$ , Claim 3 contradicts our choice of  $(I, I') \in \mathcal{D}$ . Therefore we conclude  $\mathcal{D} = \emptyset$ .

### Acknowledgements

The author is thankful to Satoru Iwata for providing his personal memorandum on Tomizawa's self-dual axiom for matroids, which was very helpful in this research, and to Masaaki Sugihara and Walter Wenzel for valuable comments.

### References

- A. BOUCHET: Greedy algorithm and symmetric matroids, Mathematical Programming 38 (1987), 147–159.
- [2] R. CHANDRASEKARAN AND S. N. KABADI: Pseudomatroids, Discrete Mathematics 71 (1988), 205–217.
- [3] A. W. M. DRESS AND T. HAVEL: Some combinatorial properties of discriminants in metric vector spaces, Advances in Mathematics 62 (1986), 285–312.
- [4] A. W. M. DRESS AND W. WENZEL: Valuated matroid: A new look at the greedy algorithm, *Applied Mathematics Letters* **3** (1990), 33–35.

- [5] A. W. M. DRESS AND W. WENZEL: A greedy-algorithm characterization of valuated Δ-matroids, Applied Mathematics Letters 4 (1991), 55–58.
- [6] A. W. M. DRESS AND W. WENZEL: Valuated matroids, Advances in Mathematics 93 (1992), 214–250.
- [7] K. MUROTA: Valuated matroid intersection, I: optimality criteria, to appear in SIAM Journal on Discrete Mathematics.
- [8] K. MUROTA: Valuated matroid intersection, II: algorithms, to appear in SIAM Journal on Discrete Mathematics.
- K. MUROTA: Fenchel-type duality for matroid valuations, Report No. 95839-OR, Forschungsinstitut f
  ür Diskrete Mathematik, Universität Bonn, 1995.
- [10] K. MUROTA: Matroid valuation on independent sets, Report No. 95842-OR, Forschungsinstitut f
  ür Diskrete Mathematik, Universität Bonn, 1995.
- [11] N. TOMIZAWA: On a self-dual base axiom for matroids (in Japanese). Papers of the Technical Group on Circuit and System Theory, Institute of Electronics and Communication Engineers of Japan, CST77–110 (1977).
- [12] D. J. A. WELSH: Matroid Theory, Academic Press, London, 1976.
- [13] W. WENZEL: Pfaffian forms and  $\Delta$ -matroids, Discrete Mathematics 115 (1993), 253–266.
- [14] N. WHITE: Theory of Matroids, Cambridge University Press, London, 1986.